MCJI %hiE R %Y

ISO 21287 #E! (AR ) mEEEL mindman
i
FE RIS P
L Sany, T MCJI-3*
' % fEBITat P
Btk L SRUELPAIAE (mm) 20,25 32,40,50,63,80,100
1 BT RT M5x0.8 G18
i RS 728,
R 5 FH R 7 i 0.05~1 MPa
(LIRS 7 15MPa
FEME =0 MR
HaTH N iRl
ITREEEAE (%) +0~+1.0 mm
JEI —5~+60°C ( A HHE )
58 P Sl 50~500 mm/sec
EEES ("2) RDT, RQT &, RCI
TR RN SR E R LR -
2 IIEAGAR EEHELTRESR
MCJI — 32 — 40 — 20x25 SRLPYS 5B (mm) ROAIH
920,25 | 5,10,15,20,25,30,40,50,60,80,100 110
‘ 932,40 | 5,10,15,20,25,30,40,50,60,80,100 120
. Jp— 950,63 | 10,15,20,25,30,40,50,60,80,100,110,120 | 150
80,100 | 15,20,25,30,40,50,60,80,100,110,120 140
7821 x 1782 2
3 SR o 1 SULPIRY $41TH2 (mm) AN
7R 2: #4478 820,25 | 5,10,15,20,25,30,40,50,60,80,100,200 300
932,40 | 5,10,15,20,25,30,40,50,60,80,100,200,300 | 300
fEM7L s 950,63 | 10,15,20,25,30,40,50,60,80,100,200,300,400 | 400
R ot G 80,100 | 15,20,25,30,40,50,60,80,100,200,300,400,500 | 500

31| (e~ | smwir " SRR TR AR - AT AR -

32| [(HlE- | s

M mindman


https://www.mindman.com.tw/proimages/pdf/C_RDT.pdf
https://www.mindman.com.tw/proimages/pdf/C_RCI.pdf
https://www.mindman.com.tw/proimages/pdf/C_special_specification.pdf
https://www.mindman.com.tw/proimages/pdf/c_technical_data.pdf
https://www.mindman.com.tw/proimages/pdf/C_Precautions.pdf

MCJT AR BB - %A

i

ISO 21287 &3 (;AR ) mIEEEL

&

mindman

1?

=]
[ M =
il E
TN
A
- AT HEAGER
FEEMME a7 ZRA
No. R - wo| TEWENK | gEE Wi | RE e fEHt
___ o 920 | CP-MCJI-3-20 | PS-MCJI-3-20
; 2;?; igf\f 2 L 925 | CP-MCJI-325__| PS-MCJI-3-25
T %Ezz . ° 932 | CP-MCJI-3-32__ | PS-MCJI-3-32
- ?ﬁiiﬁ% s = ° 040 | CP-MCJI-3-40 | PS-MCJI-3-40
T e 1 950 | CP-MCJI-3-50 | PS-MCJI-3-50
e s . ° ° 063 | CP-MCJI-3-63__| PS-MCJI-3-63
i A . ° 80| CP-MCJI-3-80 | PS-MCJI-3-80
N e . 3 2100 | CP-MCJI-3-100 | PS-MCJI-3-100
9 | InIEHEER NBR 2 o [ ]
10 |0 ms NBR 2 ° o
11| MEE7S FA7R B e i 2 (]
12 | RRIEFA T NBR 2 [ ] [ ]
13 | KRIEE ST NBR 1 o [ ]
14 |0 m NBR 3 ° o
15 | ANFZKE IR A5 8 [ J
16 | MifEER fethE 2 [ ]
17 | BAiERRE iR 1 o
18 | ZhIEAIPHE e 1 [
19 | EZER *1 1
20 | ANFREERRR =] 2
21 | HER =R 1 [ ]

*1. {HFME 020, 025: N5 ; 832~2100: JiiH

M mindman




MCJI %riEm — SR~} 620~0100

ISO 21287 &3 (58 ) mEIEL mindman
220, 925 ZE+ 1742 1+ 1712 2
OE WH ZA+1TFE 2 ZA+ 1721
aTG Cc c
G PL PL PL 2-RT

o—ore o}

FATRE 1S BATRE TR 20 TR

232~2100
OE
G 4-RT

B
— 2 [ala]B]B1] KK
/_\/S Z\/— 20 [ 16 ] 14 |13 | 4 [Mm8x1.25
€> € i 25 | 16 | 14 | 13 | 4 |M8x1.25
@ @ 32 [19 |17 |17 | 5 |Mi0x1.25
40 |19 [17 |17 | 5 [m10x1.25
50 | 22|20 19| 6 |M12x1.25
63 |22 |20 |19 | 6 |M12x1.25
@ @ 80 | 28|26 |24 | 8 |M16%15
\ ) Z 5 AN/ 100 |28 | 26 |24 | 8 |M16x15

-

KF PL| TG RT ZA | ZE
2.1 | M6%1.0 7 |22 |M5%0.8 37 | 80
2.1 | M6%1.0 7 |26 |M5x%0.8 39 | 84
2.1 | M8x1.25 |7.5|32.5|M6x1.0 44 | 95
2.1 |M8x1.25 |75 |38 |[M6%1.0 45 | 97
50 | 18 |14 | 16 [65.5|G1/8 14 12 | 2.6 |M10x1.5 |7.5|46.5|M8x1.25 | 45 | 98
63 | 18 [14.5( 16 | 75.5|G1/8 14 12 | 2.6 |M10x1.5 | 7.5 |56.5 | M8x1.25 | 49 | 106
80 | 20 [15.5( 20 [95.5|G1/8 17 1 10 | 12 | 2.6 |[M12x1.75|8 |72 |M10x1.5 | 54 | 118
100 | 20 |18.5| 20 [113.5| G1/8 17 [ 10 | 12 [ 2.6 | M12x1.75(9.5 |89 |M10x1.5 | 67 | 144

ATRE A BATRE TR 2: MR T

&% |AF|c|D| E| EE |G |wH
20 14 |11 10 | 35.5 [ M5x0.8 8
25 14 |11 10 | 39.5 | M5x0.8 8
32 15 (14 12 | 47.0 | G1/8 10
40 15 |14 12 | 54.5 | G1/8 10

©Olo|o|w©

(o=l Neol IV NN NN Ne)

M mindman



	1_規格
	2_內部構造及主要零件
	3_外觀尺寸φ20~φ100

